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Calculer :  

𝐴 = 45 − (9 − 2) × 4  

𝐵 = 3 + (19 + 5) ÷ 2  

𝐶 = 20 − ((8 − 5) × 2 − 1)  

𝐷 = (6 − 1) × (7 − 2) × 8  

 

 
 

Calculer :  

𝐴 = 8 + (7 + 13) ÷ 4  

𝐵 = 7 × 3 − (6 + 63 ÷ 7)  

𝐶 = 80 − (80 − (3 × (5 − 2)))   

𝐷 = (5 × 6 + ((9 − 7) × 4)) ÷ 2   

    Enchainement  

d’opérations 
 

 

 

 

 

 

 

 

 

 

  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

D Exercice n°1:

D Exercice n°2:

D Exercice n°3:

NOMBRES ET 

CALCULS
5e 

Calculer : 

𝐾 = 23 − 18 ÷ 2  

𝐿 = 18 ÷ 3 × 9  

𝑀 = 5 × 8 − 14 ÷ 2  

𝑁 = 24 ÷ 6 + 4 × 8  

 

  

 


